2—5 RE#EE
(1) BERINEL
YRR 1T AR 351 2 VAR S (ks H — i ) 138,786 (&1 D Hiifs Al & 72 > 7228
YK 12 4E & bl U Cla A EIBAEDS 13.8% 8 L, RIS i3 ek LTz,
X, B - B L BISED LcHR T, WA O R IE A R O R X0
RED-TZEICE S,
PESERNC D & B 1 WFEHET 47 B OB AR, 2 2 WEZEIT 9,400 {EH O
BARHE, 53 WEED 680 (&M ola HHEE TH - 72,

(2) mHHIR
YRR 17 T DS BIE (f H + W A) 122 JK 5,674 &[T, Pk 12 4F &t
i LC 10.3% 4 L7,
PEZERNZ AL &L 8 1 IRPEZFET 91T (R G PRk 12 4FH 17.4%3804) | 5 2 IRPEZEI
19K 1,925 (&M (A 15.9%4) . 56 3 kpEZEDS 1 JK 2,760 (B ([ 4.3%#4) T, &
PEFETHWA LT,

* PEFERIRBING, ZEBREOHER

i — A fiporsR g+ A fiporsR
ST SRR 24F SERRLTAE T-124F 12— 174 SERR T4 SRR 24 SRR TAE 7-124F 12— 174
BIWREZE A 17,5750 A 5,451 A 6,675] A28 0% 22. 5% 11,521 12, 959 11, 691 12. 5% A9. 8%
EdEES A 137,272] A 199,705 A 226, 769 45. 5% 13. 6% 345, 168 280, 017 267,087]  A18.9% 4. 6%
ERYiES 39, 333 27, 680 44, 206]  A\29. 6% 59. 7% 146, 611 128, 728 162, 642]  A12.2% 26. 3%
3500 % Ol 1,335 212 A 4,034]  A84. 1% A2002. 8% 3,783 1,354 4,710 6420 247 9%
3700 Ffk 0 0 251 - - 0 0 253 - -
3800 &JEfH A 6 0 A 175 A100. 0% - 94 0 475]  A100. 0% —
B8 A 104,185 A 177,264 A 193,196 70. 1% 9. 0% 507, 177 423, 058 446, 858]  A16. 6% 5. 6%
BH-BA fipovsR BH+BA fiporsR
ST SERR124E SERRLTAE T-124F 12— 174 SERR T4 SR 24 SRR TAE 7-124F 12— 174
EtEES A 13,474) A 13,283 1,974 AL 4% Al14. 9% 100, 898 98,011 79, 984 N2.9%  A18. 4%
EddEES A 733,137 A 762,606 A 713,097 4. 0% A\6. 5% 977,319 1,138,620 925, 363 16.5%)  A18. 7%
ERYiES A 40,019) A 66,242 23,827 65. 5% A\136. 0% 985,839] 1,204,020] 1,113,341 22. 1% AT. 5%
3500 Z Dl 0 0 0 - - 0 0 0 - -
3700 Hf 10 0 944 - - 10 0 944 - -
3800 & JEH 351 0 927 — - 351 0 943 — —
B8 A 786,269 A 842,131 A 685,425 7.1%  A18.6%] 2,064,417] 2,440,651] 2,120,575 18.2%)  A13.1%
VBRI (e il — i ) fiporsR REHRE (Wiks )+ A) firOvg
ST SERR124E SERRLTAE T-124F 12— 174 SERR T4 SRR 24 SRR TAE 7-124F 12— 174
EEES A 21,049 A 18,734 A 4,701 A1 o]  A74.9% 112,419 110, 970 91, 675 AL 3% A7, 4%
FORPESE A 870,409 A 962,311] A 939, 866 10. 6% A2.3%  1,322,487] 1,418,637 1,192, 450 7.3%  A15.9%
FIWPESE A 686] A 38,562 68,033  5521.3%] A276.4%| 1,132,450] 1,332, 748] 1,275,983 17. 7% A4, 3%
3500 % Dl 1,335 212 A 4,034]  A84. 1% A2002. 8% 3,783 1,354 4,710 A64.2%|  247. 9%
3700 10 0 1,195 - - 10 0 1,197 - -
3800 & JEH 345 0 752] _A100. 0% - 445 0 1,418 A100. 0% —
&8 A 890, 454] A 1,019,395 A 878,621 14.5%  A13.8%] 2,571,594] 2,863,709] 2,567,433 11.4%)  A10.3%
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(3) #fpi=R, W AR, B

R HHERITRIRT 14.6% L 720 | PR 12 4F L HlR LT 1.0 A METF L7,

PEFERNCHD & 5B 1 IREREIT 41.6% (RPER 12 i 1.6 A1 MET), 55 2
REEZENT 10.83% ([l 4.2 "4 > MET) ., 88 3 REZEIT 15.3% ([A 0.1 "1 > MET)
ThoT,

R AT T 25.9% & 720 . [/ 2.0 KA MEF L7,

PEFERNCAHD & VH 1 IRFEFEIL 44.2% (Rl 7.5 A > MET) 56 2 IRPEZETT 49.2%

([ 2.3 A > b E5) . 8 3 WEEITR 2.2 HA > MET) Thotz,

ERERAT T40% L 2D | W20 #4 » LR L,

PERERNCHD & B 1 IRPESRIL 55.8% (R 7.6 RA > b B % 2 IRFEXIT 50.8%

([f 2.3 RA > M) . 3 RFEHIT 86.1% ([F12.2 KA hLEFH) THho7z,

* PEFIERHER, WBAR, BRROHER

A 2R A 2 2

R TAE TR 124 TR 1TAE -124E | 12—174
FIRFEE 38. 6% 43. 2% 41. 6% 4. 6% A1, 5%
HOIREEE 14. 8% 14. 5% 10. 3% A0. 3% A4. 2%
ERY S 15. 2% 15. 4% 15. 3% 0. 1% A0. 1%
3500 F DA 5. 4% 2. 1% 1. 0% A3, 4% Al 1%
RS 15. 5% 15. 6% 14. 6% 0.0%]  A0.9%

LTy PN LTy YN Y=

SRR TAE SRl 124F SRR 1TAE T-124F 12— 174
BIREEE 47. 9% 51. 7% 44. 2% 3. 8% AT. 5%
FORFEZE 45. 7% 46. 9% 49. 2% 1. 2% 2. 3%
HIREEE 15. 3% 16. 1% 13. 9% 0. 9% A2. 2%
3500  F DA 2. 7% 1. 5% 11. 4% A1, 2% 9. 9%
i 27. 5% 27. 9% 25. 9% 0.5%|  A2.0%

Ep TR EF TR

R TAE TR 124 TR TAE -126E | 12—174
FIRFEE 52. 1% 48. 3% 55. 8% A3. 8% 7. 5%
HOIREEE 54. 3% 53. 1% 50. 8% AL 2% A2. 3%
ERY /S 84. 7% 83. 9% 86. 1% A0. 9% 2. 2%
3500 D, 97. 3% 98. 5% 88. 6% 1. 2% 9. 9%
&t 72. 5% 72. 1% 74. 1% 0. 5% 2. 0%
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* PEFER] - FMBIEE R, AR, BAROMER

BMBHE BMBAER BiaE

EHIE | FTR12E | FR17TE | FRIE | FR2E | FRUIE | THE | THh12ZE | TH17E

%1 R 38. 6% 43. 2% 41. 6% 47. 9% 51. 7% 44. 2% 52. 1% 48. 3% 55. 8%
0100 fo3 33. 7% 34. 6% 34. 2% 45. 8% 48. 7% 40. 8% 54. 2% 51. 3% 59. 2%
0200 #3 0. 6% 11. 0% 0. 0% 84. 9% 91. 6% 88. 3% 15. 1% 8. 4% 11. 7%
0300 ¥ 62. 5% 80. 6% 75. 7% 57. 2% 70. 0% 62. 8% 42. 8% 30. 0% 37. 2%
F2RESE 14. 8% 14. 5% 10. 3% 45. 7% 46. 9% 49. 2% 54. 3% 53. 1% 50. 8%
0400 fi3E 0. 8% 1. 5% 40. 5% 85. 8% 90. 2% 92. 5% 14. 2% 9.8% 7.5%
0500 frhhi - 72T - fokk 20. 1% 21. 1% 19. 7% 40. 0% 40. 7% 47. 9% 60. 0% 59. 3% 52. 1%
0600 kR i, 13. 0% 24. 1% 29. 0% 88. 9% 91. 3% 92. 5% 11. 1% 8. 7% 7.5%
0700 HUpF - AHLE, - FZH. 13. 7% 17. 9% 4. 0% 83. 4% 86. 1% 84. 9% 16. 6% 13. 9% 15. 1%
0800 /%L « ik « HEAD T4 8. 8% 0.1% 0. 1% 79. 5% 80. 3% 81. 2% 20. 5% 19. 7% 18. 8%
0900 {28, 12. 2% 23. 5% 38. 6% 96. 2% 96. 0% 96. 0% 3. 8% 4. 0% 4. 0%
1000 A3 A - e 67. 3% 58. 2% 30. 3% 26. 0% 22. 5% 29. 9% 74. 0% 77.5% 70. 1%
1100 2E% - Tt 1. 4% 1. 3% 1. 2% 30. 2% 21. 5% 26. 2% 69. 8% 78. 5% 73. 8%
1200 §k5M 15. 9% 6. 0% 8. 6% 60. 0% 55. 9% 44. 5% 40. 0% 44. 1% 55. 5%
1300 FEgke R 11. 7% 13. 5% 0. 0% 86. 0% 84. 4% 84. 1% 14. 0% 15. 6% 15. 9%
1400 4R 445, 17. 2% 27. 9% 25. 3Y% 61. 7% 68. 1% 63. 5% 38. 3Y% 31. 9% 36. 5%
1500  —fsidn 23. 9% 19. 2% 91. 4% 95. 2% 90. 9% 98. 9% 4. 8% 9. 1% 1. 1%
1600 MK 1. 0% 1. 1% 1. 6% 98. 6% 98. 6% 97. 7% 1. 4% 1. 4% 2. 3%
1700 i kg 35. 8% 54. 7% 10. 7% 98. 1% 94. 2% 92. 5% 1. 9% 5. 8% 7.5%
1800 kit 0. 0% 0. 0% 12. 7% 98. 8% 98. 5% 96. 8% 1. 2% 1. 5% 3. 2%
1900 % Rl T 3R, 4.3% 7. 6% 8. 7% 76. 1% 74. 0% 72. 4% 23. 9% 26. 0% 27. 6%
2000 FEER OHlifE 0. 0% 0. 0% 0. 0% 0. 0% 0. 3% 0.2%]  100. 0% 99. 7% 99. 8%
2100 boAHEE 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0%] 100.0%]  100.0%|  100. 0%
% 3 REER 15. 2% 15. 4% 15. 3% 15. 3% 16. 1% 13. 9% 84. 7% 83. 9% 86. 1%
2200 A - HA - Buibin 8. 0% 13. 7% 7. 0% 0.1% 0. 8% 0. 5% 99. 9% 99. 2% 99. 5%
2300 JKi# - BEIEMILER 0. 4% 3. 5% 6. 6% 0.1% 0. 2% 0. 4% 99. 9% 99. 8% 99. 6%
2400 Y 17. 3% 22. 4% 24. 39 42. 1% 42. 49 34. 7% 57. 9% 57. 6% 65. 3%
2500 &l - (R 2.3% 1. 2% 0. 7% 17. 3% 4. 4% 1. 6% 82. 7% 95. 6% 98. 4%
2600 RENPE 0. 7% 0. 7% 1.7% 0.1% 0. 1% 0.1% 99. 9% 99. 9% 99. 9%
2700 iHE#f 57. 2% 60. 4% 64. 6% 32. 6% 41. 9% 43. 2% 67. 4% 58. 1% 56. 8%
2800 fEHLEE 13. 9% 9. 7% 8. 9% 19. 1% 39. 4% 31. 2% 80. 9% 60. 6% 68. 8%
2900 A 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0% 100.0%] 100.0%|  100.0%
3000 HH - BgE 0. 0% 1.7% 0. 8% 1.5% 3. 7% 6. 1% 98. 5% 96. 3% 93. 9%
3100 PERE - (R4 - KA - i 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0% 100.0%]  100.0%|  100. 0%
3200 F DoAY —E R 13. 5% 16. 6% 13. 7% 1. 2% 1. 3% 3. 5% 98. 8% 98. 7% 96. 5%
3300 MY —E R 4. 9% 5. 7% 8. 3% 17. 5% 26. 2% 23. 0% 82. 5% 73. 8% 77. 0%
3400 SHAAY—E 2 37. 5% 41. 7% 29. 29 20. 0% 20. 0% 14. 3% 80. 0% 80. 0% 85. 7%
3500 Z Dfh 5. 4% 2. 1% 1. 0% 2. 7% 1. 5% 11. 4% 97. 3% 98. 5% 88. 6%
&3 15. 5% 15. 6% 14. 6% 27. 5% 27. 9% 25. 9% 72. 5% 72. 1% 74.1%

R R OFHR 1A (%)
X AR OFRITE%)
¥ BAEROEMITE%)

e A~ (RPVApERE— B0 - SRR - (EBNS (LA AR
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100— @ A
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